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— 87 ¥ E'E#
(1) Explain the Nyquist criterion for ISI free transmission.

(2) How can we achieve a symbol rate R =2W with ISI-free in a practical application? W is the
channel bandwidth.

(3) Over an ideal channel with W = 4000 Hz, what is the maximum information rate that can be sup-

ported by 8-FSK modulation, under the constraint of ISI-free ?

Ged , - 2 w oy R :
() BEREMEELR, MERDOALALL S S RBELIS
(2) H( f) = Lreczf v h...(¢) = sin c(2Wr)
eff W QWP eff
(3) R,=2W =8 K symbols/sec
8 FSK = 1 Symbol =3 Bits = R, =3 X R, =24 Kbps y |
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If binary PAM wave is to be transmitted over a baseband channel with an absolute maximum

bandwidth of 75 KHz. The bit duration is 10 us. Find a raised-cosine spectrum to satisfy these requi-
rements.

i T,=10us=10"s=>R,=10"bps » %

_ Ry e
W= 3 =5x10"Hz=50KHz

B;=75KHz=(1+a)W = a=0.5 y
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